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The Markov property is about the present us . the past .

But it also tells us about the future -
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let Holtet b :Tan adapted stochastic process satisfying
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Lemma : Let IH - I Tt Bl r,¥ ) : El HII = #CYNDI .

Then IH is a subspace , contains 1, and is closed under bounded convergence .
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Prop : Let cross
,
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P) be a filtered probability space, and

let Hatet b :tan adapted stochastic process satisfying
the Markov property . Then for SET,
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Conditional Independence
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This gives us a " poetic" way to rephrase the Markov property .

Theorem : The Markov property says :
"Conditioned on the present, the past and the future are independent .

"

More precisely : let this
, tet, IP )

be a filtered probability space, and
let X.i. trip → B.B) be an adapted stochastic process .

Then
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